35% of 320 =

20% of 1,200 =

Hutton Rudby Primary School

1 mark

1 mark
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45% of 460 =

15% x 440 =

Hutton Rudby Primary School

1 mark

1 mark
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95% of 240 =

99% of 200 =

Hutton Rudby Primary School

1 mark

1 mark
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51% of 900 =

7% of 500 =

Hutton Rudby Primary School

1 mark

1 mark
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12% of 800 =

10.

72% of 2,000 =

Hutton Rudby Primary School

1 mark

1 mark
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Mark schemes

1 112
: Do not accept 112%
[1]
2 240
: Do not accept 240%
[1]
3. 207
Do not accept 207%
[1]
4.1 6
Do not accept 66%
[1]
228
5.
[1]
6 198
: Do not accept 198%
[1]
7 459
: Do not accept 459%
[1]
8. 35
Do not accept 35%
[1]
96
9.
[1]
1440
10.
[1]
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